o
[N

.............................

<0 > (rad)
o
o [
g
e
<odcot®>)

9_&2 Lo 9
IS IS
O gk b b A o
1] S 2 ~ >T-<><m;<=--< --------
10 1 1 2 10
0 TP ;9T (PCA t%obeamllnef)
—=— DQM_mKFIt_T1orignar
—e— DQM_mkFit_TTNEW
—— DQM_mkFit_TTNEW50
—— DOM_mkFit_ TTNEW100
= 100, =
. 3
=20 :{0| SERETRCPRETH ¥ § SRR PEPPE PEPPEPEEPRTTEr) PPRTPRRY =
A E 1 A
o B0 -ees i e e =)
o o o)
v 40_— """"""""""""""""""""""""" \"

|
®
=]
I
4

: 0.8 —
1 -1 2 3
10 ! 10 ! TPlp?T (PCA tjbobeamliné'f)

<0 / > (Y
PP, > (Y0)
O = N W N O

|
D
T T TTTT]

= TEIS

s

-

o
©
o o
TTTT T
r
<

1071 1



	Contents
	Page 1


